

TENDER NO. 6706

FOR: Stockpiling Aggregate

TABULATION OF TENDERS

ROAD NO.: LOCATION: Thompson - Wabowden Area LENGTH: BRIDGE SITE NO .:

		SUMMARY OF PRICES					
CONTRACTOR	SECTION 1	SECTION 2	BID TOTAL				
Smook Contractors Ltd.	179,880.00	819,876.00	999,756.00				
Strilkiwski Contracting Ltd.	260,000.00	817,000.00	1,077,000.00				
Harrower Enterprises Ltd.	270,000.00	839,500.00	1,109,500.00				
Hugh Munro Construction Ltd.	340,261.10	834,330.00	1,174,591.10				
Amisk Construction	267,000.00	1,086,600.00	1,353,600.00				



TENDER NO. 6706

TABULATION OF TENDERS

FOR: Stockpiling Aggregate ROAD NO .: BRIDGE SITE NO .: LOCATION: Thompson - Wabowden Area LENGTH: ROAD NO .: Thompson - Wabowden Area REGION PART A: Stockpiling Aggregate for Bituminous Pavement LOCATION: WORK ORDER NO .: LENGTH: PROJECT NO.: 3856-5 NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER Smook Contractors Ltd. Strilkiwski Contracting Ltd. Harrower Enterprises Ltd. Hugh Munro Construction Ltd. ESTIMATED QUANTITIES DESCRIPTION OF WORK UNIT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT Mobilization of Equipment lump sum 40,000.00 1 40,000.00 75,000.00 75,000.00 125,000.00 125,000.00 219,301.10 219,301.10 Stk Agg for Bit Pavement Cl "B" (Mod) - Site No. 1 4,000 m3 28.72 114,880.00 40.00 160,000.00 30.00 120,000.00 23.99 95,960.00 Contingency (formerly Extra Work) 1 \$ 25,000.00 25,000.00 25,000.00 25,000.00 25,000.00 25,000.00 25,000.00 25,000.00 179,880.00 260,000.00 270,000.00 340,261.10 **BID TOTAL** 999,756.00 1,077,000.00 1,109,500.00 1,174,591.10



TENDER NO. 6706

TABULATION OF TENDERS

FOR: Stockpiling Aggregate	LC	ROAD NO.: BRIDGE SITE NO.: LOCATION: Thompson - Wabowden Area LENGTH:									
PART A: Stockpiling Aggregate for Bituminous Pavement				ROAD NO.: Thompson - Wabowden Area LOCATION: LENGTH:				REGION WORK ORDER NO.: PROJECT NO.: 3856-5			
ESTIMATED		NAME OF BIDDER Amisk Construction		NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER			
DESCRIPTION OF WORK	QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
Mobilization of Equipment Stk Agg for Bit Pavement CI "B" (Mod) - Site No. 1 Contingency (formerly Extra Work)	1 4,000 1	lump sum m3 \$	98000.00 36.00 25000.00	98,000.00 144,000.00 25,000.00							
				267,000.00		0.00		0.00		0.00	
BID TOTAL			1,353,600.00		0.00		0.00		0.00		



TABULATION OF TENDERS

TENDER NO. 6706

FOR: Stockpiling Aggregate

ROAD NO.: LOCATION: Thompson - Wabowden Area LENGTH: BRIDGE SITE NO .:

PART B: End Product Production for Traffic Gravel and Granular Base Course ROAD NO.:

LOCATION: Thompson - Wabowden Area LENGTH: REGION WORK ORDER NO.: PROJECT NO.: 3856-5

DESCRIPTION OF WORK		_	NAME OF BIDDER Smook Contractors Ltd.		NAME OF BIDDER Strilkiwski Contracting Ltd.		NAME OF BIDDER Harrower Enterprises Ltd.		NAME OF BIDDER Hugh Munro Construction Ltd.	
	ESTIMATED QUANTITIES	UNIT								
			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Stk Traffic Gravel CI "C" (EPP)(Mod) - Site No. 2	4,600	m3	15.42	70,932.00	20.00	92,000.00	22.00	101,200.00	13.30	61,180.00
Stk Traffic Gravel Cl "C" (EPP)(Mod) - Site No. 3	8,600	m3	15.02	129,172.00	20.00	172,000.00	18.50	159,100.00	13.62	117,132.00
Stk Traffic Gravel Cl "C" (EPP)(Mod) - Site No. 4	6,600	m3	25.22	166,452.00	20.00	132,000.00	22.00	145,200.00	25.43	167,838.00
Stk Traffic Gravel, Cl "D" (EPP)(Mod) - Site No. 5	7,000	m3	41.48	290,360.00	36.00	252,000.00	37.00	259,000.00	45.90	321,300.00
Stk GBase Course CI "A" (EPP)(Mod) - Site No. 6	2,000	m3	16.42	32,840.00	21.00	42,000.00	25.00	50,000.00	14.92	29,840.00
Stk GBase Course Cl "A" (EPP)(Mod) - Site No. 7	2,000	m3	27.56	55,120.00	26.00	52,000.00	25.00	50,000.00	31.02	62,040.00
Contingency (formerly Extra Work)	1	\$	75,000.00	75,000.00	75,000.00	75,000.00	75,000.00	75,000.00	75,000.00	75,000.00
				819,876.00		817,000.00		839,500.00		834,330.00
	BID TOTAL			999,756.00		1,077,000.00		1,109,500.00		1,174,591.10



TABULATION OF TENDERS

TENDER NO. 6706

FOR: Stockpiling Aggregate

ROAD NO.:BRIDGE SITE NO.:LOCATION:Thompson - Wabowden AreaLENGTH:ENGTH:

PART B: End Product Production for Traffic Gravel and Granular Base Course ROAD NO.:

LOCATION: Thompson - Wabowden Area LENGTH:

REGION WORK ORDER NO.:

PROJECT NO.: 3856-5

		Г	NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	Amisk Constr UNIT PRICE	uction AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Stk Traffic Gravel CI "C" (EPP)(Mod) - Site No. 2	4,600	m3	33.00	151,800.00						
Stk Traffic Gravel CI "C" (EPP)(Mod) - Site No. 3	8,600	m3	15.00	129,000.00						
Stk Traffic Gravel CI "C" (EPP)(Mod) - Site No. 4	6,600	m3	33.00	217,800.00						
Stk Traffic Gravel, Cl "D" (EPP)(Mod) - Site No. 5	7,000	m3	53.00	371,000.00						
Stk GBase Course Cl "A" (EPP)(Mod) - Site No. 6	2,000	m3	39.00	78,000.00						
Stk GBase Course Cl "A" (EPP)(Mod) - Site No. 7	2,000	m3	32.00	64,000.00						
Contingency (formerly Extra Work)	1	\$	75000.00	75,000.00						
				1,086,600.00		0.00		0.00		0.00
	BID TOTAL			1,353,600.00		0.00		0.00		0.00

Page 5